

CP2 Series

Answers

www.m4ths.com

$$(1) p^2 r^2 + 2pr + 1 - (p^2 r^2 - 2pr + 1) = 8r$$

$$(a) 4pr = 8r$$

$$\therefore p = 2$$

$$(b) r=1: 9-1$$

$$r=2: 28-9$$

$$r=3: 49-25$$

$$r=n+1: (2n+1)^2 - (2n-1)^2$$

$$r=n: (2n+1)^2 (2n-1)$$

$$\therefore \sum 8r = (2n+1)^2 - 1$$

$$8\sum r = 4n^2 + 4n + 1 - 1$$

$$8\sum r = 4n(n+1)$$

$$\sum r = \frac{4}{8}n(n+1)$$

$$\sum r = \frac{1}{2}n(n+1) \text{ R.F.D}$$

$$(c) \sum_{r=1}^{20} - \sum_{r=1}^{10} = 10(21) - 5(11) = 155$$

$$\therefore 8 \times 155 = 1240$$

$$(2) (a) f(x) = \tan 2x$$

$$f'(x) = 2\sec^2(2x)$$

$$f''(x) = 4\sec(2x) \times 2\sec(2x)\tan 2x$$

$$= 8\sec^2(2x)\tan 2x$$

$$f'''(x) = 8[2\sec^2 2x \tan^2 2x + 2\sec^4(2x)]$$

$$= 16\sec^2 2x \tan^2 2x + 16\sec^4(2x)$$

u	du
$\sec^2(2x)$	$2(\sec 2x) \times 2\sec 2x \tan 2x$

v	dv
$\tan 2x$	$2\sec^2(2x)$

$$(6) f(0) = 0$$

$$f'(0) = 2$$

$$f''(0) = 0$$

$$f'''(0) = 16$$

$$\therefore f(0) + f'(0)(x) + \frac{f''(0)(x^2)}{2!} + \frac{f'''(0)(x^3)}{3!}$$

$$= 0 + 2x + 0 + \frac{16x^3}{6}$$

$$= 2x + \frac{8}{3}x^3$$

$$(3) \ln\left(\frac{1+2x}{\sqrt{1+x}}\right) \equiv \ln(1+2x) - \frac{1}{2}\ln(1+x)$$

$$\ln(1+2x) \equiv 2x - \frac{(2x)^2}{2} + \frac{(2x)^3}{3} + \dots$$

$$\frac{1}{2}\ln(1+x) \equiv \frac{1}{2}\left[x - \frac{x^2}{2} + \frac{x^3}{3} + \dots\right]$$

$$\therefore \ln(1+2x) - \frac{1}{2}\ln(1+x) = \left(2x - 2x^2 + \frac{8}{3}x^3\right) - \left(\frac{1}{2}x - \frac{1}{4}x^2 + \frac{1}{6}x^3\right)$$

$$= \frac{3}{2}x - \frac{7}{4}x^2 + \frac{5}{2}x^3, \quad \frac{1}{2} < |x| \leq \frac{1}{2}$$

(b) $\frac{1}{2} < |x| \leq \frac{1}{2}$ \therefore his choice of 0.25 is fine \odot

$$(c) \ln\left(\frac{0.5+x}{\sqrt{1+x}}\right) \equiv \ln\frac{1}{2}\left(\frac{1+2x}{\sqrt{1+x}}\right) = \ln\left(\frac{1}{2}\right) + \ln\left(\frac{1+2x}{\sqrt{1+x}}\right) \therefore \ln\left(\frac{1}{2}\right) + K$$

$$(4) \frac{2}{r^2-1} \equiv \frac{A}{r+1} + \frac{B}{r-1}$$

$$\therefore \frac{1}{r-1} - \frac{1}{r+1}$$

$$(a) 2 \equiv A(r-1) + B(r+1)$$

$$\begin{array}{l} \text{let } r=1 \\ 2 = 2B \\ 1 = B \end{array} \quad \begin{array}{l} \text{let } r=-1 \\ 2 = -2A \\ A = -1 \end{array}$$

$$(b) \begin{array}{l} r=2: 1 - \frac{1}{3} \\ r=3: \frac{1}{2} - \frac{1}{4} \\ r=4: \frac{1}{3} - \frac{1}{5} \\ r=n-1: \frac{1}{n-2} - \frac{1}{n} \\ r=n: \frac{1}{n-1} - \frac{1}{n+1} \end{array} \quad \therefore \sum_{r=2}^{\infty} \frac{2}{r^2-1} = 1 + \frac{1}{2} - \frac{1}{n} - \frac{1}{n+1}$$

$$= \frac{3}{2} - \left[\frac{2n+1}{n(n+1)}\right]$$

$$= \frac{3}{2} - \frac{41}{20 \times 21}$$

$$= \frac{589}{420} \checkmark$$

$$e^x = 1 + x + \frac{x^2}{2} + \frac{x^3}{6}$$

$$\sin x = x - \frac{x^3}{6} + \frac{x^5}{120}$$

$$e^{\sin x} = e^{x - \frac{x^3}{6} + \dots} = e^x \times e^{-\frac{x^3}{6}}$$

$$= \left(1 + x + \frac{x^2}{2} + \frac{x^3}{6}\right) \left(1 + \left(-\frac{x^3}{6}\right) + \dots\right)$$

$$= 1 - \frac{x^3}{6} + x + \frac{x^2}{2} + \frac{x^3}{6} + \dots$$

$$= 1 + x + \frac{x^2}{2} + 0x^3 + \dots$$

$$6a \quad \frac{1}{r'_0} - \frac{1}{(r+1)'_0} \equiv \frac{(r+1)'_0 - r'_0}{r'_0 (r+1)'_0} \equiv \frac{(r+1)r'_0 - r'_0}{r'_0 (r+1)'_0} \equiv \frac{r'_0 [(r+1) - 1]}{r'_0 (r+1)'_0} = \frac{r'_0 r}{r'_0 (r+1)'_0}$$

$$6b \quad r=1 : \frac{1}{1} - \frac{1}{2}$$

$$r=2 : \frac{1}{2} - \frac{1}{6}$$

$$r=3 : \frac{1}{6} - \frac{1}{24}$$

.....

$$r=(n-1) : \frac{1}{(n-1)'_0} - \frac{1}{n'_0}$$

$$r=n : \frac{1}{n'_0} - \frac{1}{(n+1)'_0}$$

$$\therefore \sum_{r=1}^n \frac{r}{(r+1)'_0} = 1 - \frac{1}{(n+1)'_0} = \frac{(n+1)'_0 - 1}{(n+1)'_0} \checkmark$$

$$c) \quad \sum_{r=4}^5 = \sum_{r=1}^5 - \sum_{r=1}^3 = \frac{6'_0 - 1}{6'_0} - \frac{4'_0 - 1}{4'_0} = \frac{29}{720}$$

$$7) \quad \text{let } f(x) = \ln(1+e^x)$$

$$f'(x) = \frac{1}{1+e^x} \times e^x = \frac{e^x}{1+e^x}$$

$$f''(x) = \frac{e^x(1+e^x) - e^{2x}}{(1+e^x)^2} \equiv \frac{e^x}{(1+e^x)^2}$$

\odot e^x	$\frac{du}{dx}$ e^x
\odot $1+e^x$	$\frac{dv}{dx}$ e^x

$$f(0) = \ln(1+1) = \ln(2)$$

$$f'(0) = \frac{e^0}{1+e^0} = \frac{1}{1+1} = \frac{1}{2}$$

$$f''(0) = \frac{e^0}{(1+e^0)^2} = \frac{1}{(1+1)^2} = \frac{1}{2^2} = \frac{1}{4}$$

Maclaurin in FB 0
 $f(0) + f'(0)x + \frac{f''(0)x^2}{2'_0}$

$$\therefore \ln(1+e^x) \approx \ln(2) + \frac{1}{2}x + \frac{1}{4}\left(\frac{x^2}{2}\right) \\ = \ln(2) + \frac{1}{2}x + \frac{1}{8}x^2 \checkmark$$